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Xac dinh cac loai hinh tam giac

Ho va Tén:

Xac dinh xem m&i tam giac 1a nhon (A), ta (O) hay vudng (R) va néu né 1a tam giac déu

(E), can (I) hay v6 huéng (S).

/ Acute Triangle:
All angles are less than 90°.
Obtuse Triangle:
One angle is greater than 90°.

Equilateral Triangle:

3 equal sides. 3 equal angles.
Isosceles Triangle:

2 equal sides. 2 equal angles.
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Cau tra loi

Right Triangle: Scalene Triangle:
&One angle is 90°. No equal sides. No equal angles. /
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Xac dinh cac loai hinh tam giac

Ho va Tén: Loi gifli

Xac dinh xem m&i tam giac 1a nhon (A), ta (O) hay vudng (R) va néu né 1a tam giac déu

(E), can (I) hay v6 huéng (S).

Cau tra loi

/ Acute Triangle: Equilateral Triangle: \ R1
All angles are less than 90°. 3 equal sides. 3 equal angles.
Obtuse Triangle: Isosceles Triangle: OS
One angle is greater than 90°. 2 equal sides. 2 equal angles.
Right Triangle: Scalene Triangle:
&One angle is 90°. No equal sides. No equal angles. j Ol
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